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Suppl. Figure S2

leptin - obesity

adiponectin - obesity

resistin - obesity
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Suppl. Figure S3

log Leptin
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BMI (T0) - Leptin (T0)
tho = 0.66, 95% Cl =[0.42; 0.81], p<.001™*, n=238

BMI (T0) - A Leptin (T0-T1)
rho = -0.44, 95% Cl = [-0.74;0.02], p=0.054,n =20

BMI (T0) - A Leptin (T0-T2)
rho =-0.59, 95% Cl = [-0.84; -0.13], p=0.013*, n = 17
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Suppl. Figure S4 BMI (T0) - A relative VO2max (T0-T1) BMI (T0) - A relative VO2max (T0-T2)
tho =-0.38, 95% Cl =[-0.73;0.12], p=0.122,n =18 tho =-0.41, 95% Cl =[-0.68; -0.05], p = 0.025*, n = 30
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Suppl. Figure S5

Intraindivual variability in body fat percentage
ICC of 0.56 indicates a poor to moderate agreement within an individual
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Suppl. Figure S6

Body fat (T0) - A relative VO2max (T0-T1) Body fat (T0) - A absolute VO2max (T0-T1)
rho =-0.33,95% Cl =[-0.7;0.18], p=0.188,n =18

variance explained = 13.0%, AlC = 87.4

tho =0, 95% Cl=[-0.48; 0.48], p=0.994,n =18
variance explained = 0.1%, AIC = 23.6
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Suppl. Figure S7

Leptin (TO) - A relative VO2max (T0-T2) - females

rho = -0.44, 95% Cl = [-0.75; 0.01], p = 0.051, n = 20
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Leptin (TO) - A relative VO2max (T0-T2) - males
rho = -0.22, 95% Cl =[-0.78; 0.54], p = 0.567, n = 9
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Suppl. Table S1

_ Body Weight [kg] Body Fat [%] Waist circumference [cm]

Mean Mean Mean
t0 (n=39) 90.8 12.4 31.6 9.0 110.1 14.1
t3 (n=20) 88.9 14.7 34.0 12.2 106.4 11.6
t6 (n=32) 89.1 13.0 30 13.3 105.3 10.7

n=32 p=0.08 p=0.3 p=0.08



